1. feladatsor — Halmazok

Megoldasok
1. Feladat.
e AUB ={a,b,c,d, e} =U; e A\ B={a,b,c}; e (AAC)\ B =0;
e ANB={d): « ALB = {a,b.crc}: e P(B) = (0.{d} . {e} . {doc})

e B={a,b,c};

e AUB={0,{a},{b},{c},{a,b},{b,c}};

° AﬂBZ{@,{b}};
i A\B:{{a}v{a’b}}§

3. Feladat.
a) e A c) {0} e A
by P C A d) {0} c 4
4. Feladat. P (P (0)) = {0,{0}}
5. Feladat.
a) A\ (B\C)# (A\B)\C
b) (A\B)\B=A\B
c) AN(BUC)# (AUB)N(AUC)
d) AnN(BUC)=(ANB)U(ANCOC)
6. Feladat.

w
1

. Feladat. A = {0,{a},{b},{a,b}}, B={0,{b}.{c},{b,c}}

o B\ A= {{c},{b,c}};
e AAB = {{a},{c},{a,b},{b,c}}.

e) {{0}}¢ A g) {{0},0}cA
f) ({01} cA h) {{0},0} C A

e) A=(AUB)\
f) (AnB)\ (B\
g) (AAB)A (AN

a) {1,3}x{-1,0,2} = {1, -1), (14,0), (1,2), 3,-1), (3,0), (3,2)
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b) (-1;2]x[1;3)
® 3 <
ol
A +  J
-2 -1 0 1 2 3 a

7. Feladat. AU(BN(CUD))=An(BU(CND))
8. Feladat. A C B teljesiil, A = B és B\ A = () nem teljesiil.

9. Feladat.
a)
ze(ANC)U(BND) «— zxze€(AU(BND))Nn(CU(BND))
«— z€(AUuB)N(AuD)N(CUB)N(CUD)
— z€(AUB)N(CUD)
b)
reCUD —xz¢ BN(CUD)=B\(CUD)
/
reANCND
e
reANC
— z€ (ANC)\(B\(CUD))
10. Feladat.

e AMA=ANA=A
e (ANB)N(ANB)=ANNB=ANB=ANB
e AUB=(ANA)N(BNB)




